
juk; 3 fzpjk; 

2. vz;Zjy;. 

nrayl;il 2 

gapw;rp 1 

 njhlu;GgLj;Jf.      

 Ik;gj;J %d;W     75      

 mWgj;Jehd;F     86      

 njhz;Z}w;NwO     64 

gapw;rp 2   

 vz;ngau;fSf;Fupa vz;Fwpfis vOJf. 

 Kg;gJ   - ……………………      

 vOgj;jpuz;L - …………………..       

 vz;gj;Jehd;F - …………………… 

gapw;rp 3  

 vz;FwpfSf;Fupa vz;ngau;fis vOJf. 

 48 - …………………….............................      

 56 - …………………….............................. 

 99 - .............................................................. 

gapw;rp 4 

 vz;rl;lj;ijg; ghu;j;J vz;fis vOJf 

 

 

            

             .......................  .......................  .....................     ................... 

gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; 



 

gapw;rp 5 

 jug;gl;l vz;fis vz;rl;lj;jpy; Fwpf;fTk;. 

 

 

 

     46       68    23        54 

gapw;rp 6 

,yf;fk; gj;Jfs; xd;Wfs; 

23   

42   

70   

 

gapw;rp 7 

 tpdhf;fSf;F tpil jUf. 

 vz; 25,y; ,yf;fk; 2,d; ngWkjp ahJ? 

 ....................................................................... 

 vz; 47,y; ,yf;fk; 4,d; ngWkjp ahJ? 

 ....................................................................... 

 vz; 80,y; ,yf;fk; 8,d; ngWkjp ahJ? 

 ....................................................................... 

 vz; 73,y; ,yf;fk; 7,d; ngWkjp ahJ? 

 ....................................................................... 

gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; gj;Jfs;   xd;Wfs; 



  

gapw;rp 8 

 vz;Fwpfis vOjTk;. 

 
gj;Jf;fs; 

 
xd;Wfs; 

 
vz;Fwp 

   

   

   

  
 
 
 

 

 

gapw;rp 9 

 vz;fis tpupj;J vOJNthk;. 

cjhuzk; : 

    

 

       

 

 

gj;Jfs; xd;Wf

s; 

 

 

 

 

 

3 5 

gj;Jfs; xd;Wf

s; 

 

 

 

 

 

3 5 

gj;Jfs; xd;Wfs; 

 

 

 

 

 

3 5 



 30  +        5 =  35    ........  +  ....... =  ......  ........  +  ....... =  .. 


